/ PROPRIETARY DATA

PROPERTY OF DEN HARTOG MFG., INC. INFORMATION FURNISHED HEREIN

IS THE PROPERTY OF ACE ROTO-MOLD MFG., INC.AND SHALL NOT BE USED,
DISCLOSED TO OTHERS, OR COPIED WITHOUT THE EXPRESSED WRITTEN
CONSENT OF ACE ROTO-MOLD MFG., INC. ALL RIGHTS RESERVED

Feeder Tub ACE-MF

Long Leg Tube SJMF-10002
(Center tube in weldment)

Upper Stand Weldment SJMF-10000

3/8 x 1 Hex Bolt (1 Place )
(Use if necessary to lock rotati»\:

Short Leg Tube SIMF-10003

MF-10198

Control Vane SJMF-10004

1/4 x 3/4 Hex Bolt ( 2 Places )

1/4 Flat Washer ( 2 Places )

1/4 Hex Locknut (2 Places)

5/16 x 1 Hex Bolt ( 4 Places )

| [l —>5/16 Flat Washer (4 Places )

\5/16 Hex Lock Nut (4 Places )

Lower Stand Weldment SJMF-10001

Apply grease to pivot tube here

/3/8 x 1 Hex Bolt ( 3 Places )

Short Leg Tube SJMF-10003

DRAWN / DATE

ADH 171

MATERIAL

/08

APPRD. / DATE

Den Hartog

INDUSTRIES,INC.

A DRAWING TEMPLATE/INFO UPDATED| ADH 1/7/08 1557
REH 1/77/08
REV DESCRIPTION BY / DATE CCN Ace Roto-Mold Injection Molding Blow Molding Sowjoy
ALL DIMENSIONS ARE IN DECIMAL INCHES THIRD ANGLE PROJECTION NOTES 4010 HOSPERS DRIVE S. BOX 425, HOSPERS, IOWA 51238-0421
TOLERANCES UNLESS OTHERWISE SPECIFIED ANSHILSM DESCRIPTION
MINERAL FEEDER ASSEMBLY INSTRUCTIONS
@ @‘ SCALE NS PARTNO. vE 10198

J




	Model
	Drawing View2


